Calculus BC – Chapter 10 - Even Answers (F.T.D.W.)
Section 10.8
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4. By symmetry let’s just go from 0 to 
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 and double our result. 
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6. 
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8. 
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10. Not sure that we can use: 
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 since as the angle increases there’s nothing to subtract??? Hmm… well, by looking the graph below, we don’t even need the 2nd curve!
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12. Here we have 2 curves but again we aren’t going to subtract anything! Use the cardioid from 0 to 90o and then switch to the circle from 90o to 180o and double the answer!
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Fig 10.8.12 [image: image19.jpg]


  Fig 10.8.14 [image: image20.jpg]



14. Finally we get to use that subtraction method: 
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Note the intersection of the 2 curves is at 
[image: image22.wmf]6
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. Don’t forget to multiply by 4!
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Calculus BC – Chapter 10 - Even Answers (F.T.D.W.)

Section 10.8 (continued)

16. Note the intersection at 
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. Again there is a synchronization problem! Again we can do some geometry to find the area another way. It turns to be the same area is we use 
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 with r = 1 and integrate from 0 to 
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. Multiply by 4 again…
A = A(inside the left circle) – A(sector of the circle) from 0 to 
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A = A(inside the reflected right circle) – A(sector of the circle) from 0 to 
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18. 
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20. L = 
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22. line segment, 
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24. (a) 
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 a = radius 
(b) 
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 a = diameter
(c) same as in (b) above

26. 
[image: image38.wmf](

)

2

2

2

0

2(sin)

dr

d

Arrd

p

q

pqq

=+

ò

 =
[image: image39.wmf]2

2

1

2

0

2(2sin)2

eeed

p

q

qq

pqq

+

ò


          = 
[image: image40.wmf]25sin

ed

q

pqq

ò

 = ? (integration by parts! Yeah, I know… “Easy for me to say!” 
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28. About the y-axis, we use: 
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, assume a > 0

       A = 
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30. (a) btw… here’s a screen shot to show you how to graph an antiderivative or indefinite integral of a function. Go to 
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 and enter any function, say y1 = x2. Then for y2 enter using the 
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 and selecting 8:fnInt(y1, x, 0, x). a = 0 is arbitrary but notice b = x. [image: image46.png]Flotl Flotz Flots
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32. Centroid (see p.840) 
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Just integrate � EMBED Equation.DSMT4  ��� from � EMBED Equation.DSMT4  ��� and double the result!


� EMBED Equation.DSMT4  ���=� EMBED Equation.DSMT4  ���=� EMBED Equation.DSMT4  ���
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